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it el B. 'I'wmluuwn we, a ficlence mt.'::s:ﬂm
djﬂtl ﬂf a two-digit number 14 6 and Class hml 5 nnd the average tes
sore wa second class had 1%
| WM R puenter formad ;mulcn il lr average score was 94%. Il
I e e diﬂll:,ll_s (he (@ ¥ombined the test scores of both
0 ia 'M I : 12 classOsawhat 1s the average of both classes
{ Ogelher?
ﬁiﬁemh term of an AP is (4n + 1), then sum of %HR% b #8.5%
first n terms is ¢ 89% d 90%
3 Wl 9. If a coin is tossed three times in succession,
|l' b n(@2n+1) \Q then the number of sample points in sample
c nin+3) space is
d n(2n+ 3 a :s g ;
co
5
m i g the fofnts A0, QA{ ot 10, 1If LCM of two numbers is 48, then which of
. udividcd P ahar A4 S the following cannot be their HOF?
E“szwrdinates of point ¢ are i ey
]‘ c 6 d3

11. On dividing x* - 5x + 6 by a polynomial glx),
the quotient and remainder were ~x* -2 and
=5x + 10 respectively, then g(x) is

8 x*-2 b 2-x*
e (¥ +2 d-i?+3 B

12. Two cars are 480 miles apart and moving
directly towards each other to meet at a r
built on the way. One car moving at a s

100 mile/h and other is moving at 70 mile/t
car moving in high speed reachcuhe’ sort
cwmdbyslomrcaria (‘_'

¢ 280 miles d 320 miles

a 200 miles bwm " ;;!
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8 A 4y'=0 b4 y=rsg?
¢ 4ytar? Pt

i ! Ifuwdlﬂamuofthcmdthc
(~3,0), B(x, ..3) md C(4,1)are the quadratk: equation x* . + - :
an isosceles right angle triangle
' -&ﬂ I H-’Whypotenusc, then the area of
_'Ih% lq unlu b 25sq units YA M
W w0y b AR R
.:‘“ T 50 8q units d /50 4 units su.n; of th s[¥9th sum of the arithmetic
| il progression?
15. Ruchi wanted to find the distance across a b 190 1

aryns

stream, She measured and made the diagram 4 it et
- given below, What is the distance across the o e

stream? 3(_#, B and C are interior angles of a AABC,
' en which of the following is true?

QM

J A
=C0s—
2 2

\E b 5'.in(ﬂ+BJ=n:c:»si I
s, {

A+C

825 b2 cl5 { J=9(p
Qv ¢ cos| = I

16. In the below figure, chord £ arallel to
the diameter AC of the cir CBE =65, o Noneof Baeahove
then what is the value 7 24. The median of the following information is

Height  |151 |152 |153 |154 |155 {156 |151

Number of
plants & |4 i1 |9 16 |12
i
a 1545 b 1555
c 1535 d 153

a 35 B2 o4 . d55 25. Ifa and bare two odd positive integers

17. An integer is chosen at random from first such that g > b, then which of the
200 natural numbers. What is the probability following is true?
that the integer is divisible by both 6 and 8? e
R rR 120/ b 1/25 a One of the two numbers —— 5
18. Thel b o nomﬁifana——} are odd.
2 2
b =
c Boﬁh and — “ﬁ
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. The point P (4, 3) is reflected in the X-axis as

P’(x.y)and O'is the image of O ((he
when reflected in the line pp’, "l('hen.o ﬁnng:inl)he
perimeter of quadrilateral POP'0Y, |

a 10 units

b 5 units

¢ 20 units

d 7 units

Global Tea Estate began production in 1999,
it produced 8000 cartons of tea, it is
projected that production will increase

by 50 cartons each year. Also, the
production cost for first year was ¥ 70 per
carton which reduced by ¥ 2 each successive
year and the selling price of each carton
increases by 10% of the production cost of
year 1999.

The production in the Sth year is

a 8000 b 8200
c 8400 d 8600

A circular pond is to be constructed inside a
circular park having origin as the centre such
that the circumference of the pond passes
through the point (5,2/6) and the remaining
area of the park is 462 units, then which of
the following point lies on the circumferenee
of the park?

a (10,4V6) b (15,66)
c (5,4V6) d (0,2¥6)

The value of log cos0° + log ¢6s)° + log cos2°
+...+log cos90° is
ao <k

2 O

c =1

J—4+1;8 +16 sec *a. + cos*a is equal to

a seco— cosc
b 2seco+ coso
C 2secot— coso
d None of the above

31.

32.

33.

34.

35.

In the given figure, /
and m are two parallel
tangents at Aand B. If
the tangent at ¢ makes
an intercept DE
between the tangents /
and m. Then, ZDFE is equal to
a 90° b 60° e 75

Two bus stands due East of a leaning pole
which lean towards the West at a distance of
m and n from its foot. If @ and B are the
elevation of the top of the pole from these
stands, then its inclinatio the

horizontal is given by ¢ [@Jaﬂ to
g ncota—mcotf b to.—ncotp
n-m 4 \ n—m
. 1 cot o — 1ok E" d mecota.—ncotp

m AN\ m-n

d 45°

Solve the 'I’hﬁqwihg and choose the correct

option, '\,
\ b ab
=ya+b-
b a+b

a
xla—-b+
a_

X+y=2a’

5 r_as—.&ﬁ y;az—bz
' g b
b X_al_b.? y_ﬂl_bl

T b
a = a+b
C X= , Y=
a a

d None of the above

In a class in which all students practice

atleast one sport, 60% of students play soccer

or basketball and 10% practice both sports. If

there is also 60% that do not play soccer,

then the probability that a student chosen at

random from the class play soccer only, is
a0l b 0.2 c 03 d 04

Points (3, 0) and (-1, 0) are invariant points
under reflection in the line L,. Points (0, =3)
and (0, 1) are invariant points on reflection
in line L,. Then, the lines L, and L, are
respectively
a X-axis, Y-axis
c y=x,origin

b Y-axis, X-axis
d origin, y=x

Answers

6. b 7. ¢ 8. ¢ 9. a 10. a
6.6 WH )8 19.a 2. b
26. ¢ 21. b 28. 29. d 30. ¢



